W=1200LLF W=1200LLF W=1200LLF 100~270
20
kyFL—IL (AL) o l S0LLT
S7029
65 by FL—ILRIFAL). - 57
2 PBFRAYELSEZ(SUS) =%
I - M4 X 20 AN
- —S—ER (AL XL
= | ¥
> SL2323 Y| R
R R . w| H
n A2 )L—13—(AL) ol o
SL65100C o
¥ o
Il Ol
[a o
. e ————————————————————————————————————————————————— G . 1 T
i F5 R/ L(SUS) R ;‘%
D_ Wy z
M4 x 8 m X 3
T (AL
S5545
FAEFHTRM(AL)
§ [1—50 X 30 X 2.3t
ol % FSRAYE 1L 3FE(SUS)
XX M4 x 12
| | §
¥ M 5
oW B
M6y T F v AL) IURF vy T (HhR)
FNAMRILMSUS)/M6 x 20 K72ECNB
% LARJLVERERILE XA #H5R M (ZAMI0) FAEFHTRA (ZAMIO) D67y A(SUS)
. M5 X 15+ M5#EF C—50 x 30 X 2.3t C—50 X 30 X 2.3t M4 x 13
% FSRINHT (SUS) FH(AL) Ry FL—IL(AL) FH(AL) BEXEHT Sk (AL
o
* AR ER LR X S5545 S5545 K72|§WHA
if 45 M(D6)/Ma L (SUS) YRsR X 7> H—(SUS)
o
M4 x 13(E T D) N / me / SGA-M8.~M8 x 35
S KR —E S S -2 S
- —x——Bre Al =2———-- . , —_—— - =%
- 5.5 % 30 T S s 1] - -
! LAJLERERILE =
o
«] © M5 X 15- M58 vk
Yo~ R == (AL) Pa{ v h3—(AD |~‘;</1:?“‘(sus)/ DAY L —N—(AL) W—IR—IURFry T (i)
: —/\—Hf P 2 bhhIN— R : —/\— —/\—I: w7 (3
3 EEELLLUEETE) -3t~ ke 7 ~ ~T vy ZHE
® SL2323 SL65100K M4 x 8 SL65100C SL65100ECP-R(L)
RiGaE L—NR—Sato B rS2AVE 42 3FE(SUS) JL—A—E{#1(AL)
2.0mm 50 M4 x 12 0 SL2323
AVY = 7Y H—(RIR) J—i— LiFsk 2 Jo—15— Ltk 2 J—si— Ltk 20
W=12004F W=12004F W=1200LLF 100~270
MOEE  XHREVFIIKEREREICIYERYET, XEFEHTSHyINIA T3V TT,
STE b7 o X EHEEFHE
AN — 2 & B g I%4% — O N B B R B &
/ Ef"§+ ﬁﬁ I -
i " R | | <L gAY -l | | | @ |TEAR
ﬁ = 2 % 8 = 2 F 7L EE FEEME # R (A3)=1/8,1/25
A _— B i@ | | A2 GITFZAURL— )L/ SL-WB-57029-F

#5E B :2006.12.07

HEH: 2010.6.22

DOPPOPOPDOOD

#-033



